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Y9 Straight Line Graphs
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| What doIneedtobe able || Heunords |
| to do? | | Gradent: the steepress of a lne |
I | | Wtercept: where. two ines cross Tre y-ntercept: where the e meels the y-axis :
I By the end of this unit you shoukd be able to- : : Paralel tvio Ies that rever meet with the same gradient. |
| WC : ig:;g | | Co-ordnate: a set of vales that show an exact position on a graph |
|« Understond and ey m + |1 Linear: near graphs (straight ine) — near common difference by addition/ subtraction :
: * Find the equation of a e from a araph : : Osymptote: a straight Ine that a graph will never meel |
| lerprel gradent and inlercepts of reak- | | Reciprocal a pair of rumbers that. multiply together to gve | |
| Hegaps || Pespendeubar: o es thal meet ol 4 righl ange. }
e o e e e e d L e e — —
| Lines paralelto the axes @ orte orts on s e e Pottigy-mx +c gaphs @ |
: _ s . oxcoodnateof 0 (y=3x—1 3 xtexcoomteten—1 |
| ‘ I NEIDE D Lok Lo dsphiy the :
| : Lies purale! 1o the y s toke. the form x I B pr—— |
Ihtzrsu:tm . - a.ond are. vertical I J |
IPGHLS‘H-:; St |7 f — I Tres represerts o coordale par I
| T Lines parale! o the x axs take. the formy I 50 |
| 4 +— \ = a ond ore. horizontal ” . |
| :: L Ontre ports on this e have e (3, <3) (7, <2) (-, =) 1 ") You only reed two ports o foma |
| . ay coordrate of -2 dbyentis e becase e || : g e |
O ... ... o 1 4 I
P S v ey 4 |
I Graderits . . 3 Plalling more. porls hebps wu decrie |
| » i Tthm | if uour cokutilions are correct I |
| ¥y =mx +c . gradent — the steeper T3 trey do make o slraight Ine) |
| A‘ ‘ £ tre e |
! | 1 |
| Trecoeficentof x (e ° ° "7y 7 5T ot Rememier tojon the ports to meke. |
| rumber n front o 2 tek us ﬂ i ke |
| the gradent of the ine / j same. gy et ] |
e [ I
r—-—=-——=-=-—---"-"-"-"-"-----"-"----1Y" - == —_——-———— 1
| Compare Intercepts The. vake. of ¢ & the. port af Tre equation of aire | |
mx +c 4 .. . equation of &

02 o2 y “*”'W‘;fm‘“”‘n Tre coefficent of x (the rumber n front can be rearranged: B | |
I 'L s ¥ rtercept I|  of ¥ tek us the gradent of the e y=c+m :
| \‘4 g-%x The coordnate of a y iercept I' \ The. vae of ¢ & the port o C=y—mx |
| il abias e (0g) |I Y = mX + € i tre e coosses the u- | Ketify wheh coeffcert | |
| s===# 7 4 BBy || \ /ﬂ ans. Y inkercept uou are identifing or |
| .1 Lines with the same u- || y and x are. coordnates COMpPaTg. |
7 '\«H} e ! Real ife araphs
——————————————————————— I A plumber charges a £25 callout fee, and then £12.50 for every hour
-~ . T T T T T T T T Compilete the table of values to show the cost of hiring the plumber
| Find the equation from a araph IGee] o [ + 1 1 5]
I':Q.” ¥ Tre :: Cont [£) £35 £125
| Ty ) Ejz‘m y=2x+1 || e e ek e tes vabes vl ol be. poste because tes
W\Q 3 I messire defances or ooects which cannol be nesalie.

:I Divect Proportion araphs  To represert. drect proportion the. graph must start al the ongn
I

A box of pens costs £2.30

Complete the talble of values 1o show the cost of buying boxes of pens.
= G Booes a 1 2 3 8
[ Cost (€] £230
3.
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